Mental Test 1

Try to solve the questions
with almost zero use of pen




5. Which of the following is a quadratic equation?

frT & @ gfard wHiEor Sl §2

1
a)xz2 + 2x +3 =0
b)(x-1(x +4) = x*+ 1
cJx*-3x +5 =0
d)(2x + 1) (3x-4) = 2x* + 3




6.0f the following quadratic equations, which is the one
guadratic equation whose roots are 2 and -15?
farr & @ fFw el waftewor & #qer 2 3k -15 &7
a)x’-2x + 15 =10 b) x2+ 15x-2 = 0
c) x2+13x—-30=0 d)x* —13x—-30=0




7. Find the equation whose roots are 1 and 5?

gg WHIHTOT gar wY fawE qo 1 3K 5 @l

a)x’-5x + 5
c)x*-6x + 5

0
0

b)x*-5x + 6 =
d)x*- 6x + 6 =

o o



2. Find the roots of the equation x* - 9x + 14 = 0?
FHIHIOT 1% - 9x + 14 = 0F HA FAT 57
a)—2or-7 b)2or7 c)2or-7 d)-2or7




9. For what values of x, x* - 11x + 28 = 0?
x & 59 AT & AT, - 11x + 28 = 087
a)3or8 b)2or14 <c)4or7 d) -4 or-7




[0. The value of ‘X’ for the equation x> + 9x + 18 = 6 - 4x are:

FHIHIT x%2 + 9x + 18 = 6 - 4x & AT x &HT A
a)(-12,-1) b)(L,12) ) (- 6,—3) d)(6,3)




ll. What are the zeroes of the expression 2x* + 9x - 5?
ego® 2x° + 9x - sa?al—«:rmr-raﬁl

a)—10,1 b)10,—1 c) 5,E <:|)5,‘71




I2. The solutions of the equation 3x* - 7x - 6 = 0 are:

FHIFHIT 3x2- 7x- 6 = 0F &I AT F
a) - 3,§ b)-9,2 ¢9,-2  d)3, ‘?2




1. One root of x>~ 9x + p = O0is 3, find P?
HHNHIOT x° - 9x + p = 0 T UF HeA 3 §, P Tl F]
a)6 b)-9 c) 18 d) can’t say




M.

If a, b are two roots of a quadratic equation
such that a + b = 24 and a- b =
then the quadratic equation having aand b
as its roots is:

R a 3T b frdl gRE wHlleRor & Ao
gﬂmgﬁa+b—243ﬁ1’a b—8<'-ﬁ
g WHIHIOT ATT FI|

a)x? +2x+8 =0
b) 2x*- 48x + 256 =0
) x?- 24x + 112 = 0
d)2x* + 8x + 9 =0




I5. Find b, if the roots of the equation x> - 6x + b = 0 are

equal? .
3T FHNHIOT x° - 6x + b = 0F A FAW g dl b AT HY
a)3 b) 6 c)9 d) 12




If one root of the quadratic equation x> + 12x + k = Ois

twice the other, find k?

IR FHIFROT x2 + 12x+ k = OFT Th HA gAY A & SN &
AT & dY kT AT 9T HY|

a) 12 b) 16 c)—32 d) 32

13



I7. If the roots of the equation x> - 28x + p = O are in the ratio

3:4, find p?

3T FHNHIOT x°-28x + p = OF HA 3:4 F HAIT H ¢ @ p
HT AT AT

a) 192 b)144  ¢) 120 d) 96

14



[9. If one root of the quadratic equation x> + 28x + ¢ = Ois

thrice the other, find ‘c’?
FHIEIOT x* + 28x + ¢ = 0F TF HA IO gAY A § it om
g a c & AT AT

a) -147 b) 49 c) 98 d) 147

15



M. If one root of the quadratic equation x* + ax + 27 = 0is
square of the other, find the value of ‘@’ in the equation?
IR FHIRIOT x° + ax + 27 = OFT Th A g A & a1 &
AT & A a FT AR 9dT
a) 6 b)-6 c)12 d)-12

16



20. |If 2 is one root of x> - px + 10 = 0 and 7 is one root of

x*-kx + p = 0, findk?
mzmx—px+1o—omwm%3ﬁ?7
Wx—kx+p_0mwm%?ﬂkaﬂmmaﬁl

a)l b) -8 c)8 d) can’t say

17



21. 1f 4 is one root of x> - px + 8 = 0 and 3 is one root of
x>+ ax + p = 0and, find a?

3 HPIT x2 - px + 8 =

0FT 4 T Hor ¢ AR wiewvor

x’+ax +p = 0m3wm%?ﬁammmwl

a)5 b)-5

c)6 d) can’t say

18



22.. If 2 is one root of ax?-bx + ¢ = 0 and
a:b:c=2:9:10, find the other
root?

X AT ax?-bx + c = 0 H TH
AT 283N a:b:c=2:9:10 § @ g@U

A AT
a) 4.5 b) 2.5
c)1.5 d) None




23. If a and b are the roots of the equation ax? — a’x + ab = 0,
then what is the value of a and b respectively?
gfe a dUT b FHFT ax? —a’x+ab =0 a?ﬁ'\a'%, a HHAT: a
dYuT b HT AT FT 2

a)1,0 b) 1,1 c) 0,2 d)o,1
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2v.1f x4, x, aretherootsof x> +4x+k = Oandx; —x, = 2

then k =

I xq, x, GHSOT X + 4x + k = Oa?ﬂ‘jvl'gﬁi'xl—xz =2ar
k =

a)l b) 3 c)-3 d)-1




25. If one root of the equation 3x*- 24x + b = O0is thrice the
other, find b?
I FHWGIOT 3x°-24x + b = 0 F UF HA q@ AA & el
IOM & WA ¢ aYb T AGT Tal |
a)—36 b)12 c)—12 d) 36

22



26. If one root of the equation 5x*> + px + 80 = 0is cube of
the other, find P?
3T FHIFIT 5x° + px + 80 = OFT UF A g A & G &
AT & a p &1 A IaT R
a) 50 b) 60 c)-50 d) 50 or - 50

23



27. If the equation x> + ax + b = 0 has equal roots and 2 is
one root of the equation x* + ax + 14, find b?

IO FHGIOT 2% + ax + b = 0F FqF FAW § 3 FAtwwor«2 +
ax + 14 FT TF T 2 § @ b & AT AT
a) 4.5 b) 20.25 «¢) —20.25 d) 81

24




23. If the difference of the roots of the equation x> - 5x + k =
0 is unity, find k?
3R FHNHIOT 22 - 5x + k = 0 & A FT A 1 & @ k&1 A
AT
a)4 b) 6 c)—6 d) 12

25



24. If one root of the quadratic equation x> + (3p + 2)x- 27 = 0
is square of the other, find ‘p’?
IR WHAIHIOT 2% + (3p + 2)x- 27 = OF U HA GAY A & o ¢
ar pa'Tr AT 3'I1T-I' Cy|

a)? b)5 c) 2

4
3 W3

26



70, If the equations x> +2x—3 =0 and x*+3x—k=0 have a
common root then the non zero value of k is:
Ife AT ¥ +2x -3 =0 IR 22 +3x—k = 0 FT TFH A
Ao & @ k&1 R T AW 3
a)1l b) 2 c)3 d) 4

27



. If a and B are the roots of the equation x? + kx + 12 = 0 such
that « — B = 1 the value of k is:
I o 3R g FAFOT 22 +kx+12=0 & HA § 30 a@ &
a—B =18 k& AT ¢
a)7 b) -7 c)t+7 d)o

28



2. If one root of the equation % + % +% = 0 is reciprocal of the other,
then which one of the foIIowing is correct ?
uﬁwamr—+ +-=0 F TF AF q@ F INEIRSF ¢, A

ﬁmﬁ#ﬁamaﬁ%”
aJa=> b)b=c cJac=1 da=c

29



13. What are the roots of the quadratic equation
a’b’x*— (a®* +b*)x+1=0 ?
gfaard HHIT a?b’x® — (a® +bHx+1=10

FAT FATE ?

1 1 1 1
A P
1 1 2 1.2
) R d)a®, b
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